
Subject: Re: VENET, VETH + SNAT
Posted by chinaman on Thu, 19 Oct 2006 12:48:23 GMT
View Forum Message <> Reply to Message

That means it's impossible to use veth with some VEs inside a bridge and some VEs using SNAT.
I thought using the brige interface i.e. vzbr0 instead of eth0 together with SNAT, but that's not
working?

What about the latency difference using venet and veth? If i could solve this it might be possible to
use just venet.

Thomas

Page 1 of 1 ---- Generated from OpenVZ Forum

https://new-forum.openvz.org/index.php?t=usrinfo&id=658
https://new-forum.openvz.org/index.php?t=rview&th=1362&goto=7647#msg_7647
https://new-forum.openvz.org/index.php?t=post&reply_to=7647
https://new-forum.openvz.org/index.php

